4.2 Solve Multi-Step Equations

Part 1: Do it Now!

Solve the following equation:

Ox+8=23
~x = 93-<%
Az =15
EC
.15
S
%:-2



Part 2: Solving Multi-Step Equations

To solve an equation involving multiple terms:

1) Get rid of any brackets by expanding

2) Collect variable terms on one side of the equation
and constant terms on the other.

3) Collect like terms

4) Isolate the variable

Don't forget you can check your solutions!

3x+2=2x-4

Yy-9 +2 = -Y
2=~y
2% =-4-2
X% =-6

E- Start by moving all the variable terms to one }
side. Collect the variable terms on the left byi
subtracting 2x from both sides. i
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i Now isolate the variable terms by moving the
| constant terms to the right. Do this by i
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2 ) i Remember start by collectlng vanable :
7-2x=8-5x | terms on to the left side, then move the |

1 . 1

1 constant terms to the right. (you can do |

i this in one step with more practise)

- +hx = X-"7
Bx=|
Z 3
Z ::/3

Try on Your Own

3) 5-3m=2-2m
S43 = -am+3m
(=W
m:7
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4) SEH G D10 | e
Sx-16-lx v =19
B -1% = (94 (5-
¥ = 33

l/ i three examples. Collect the variable

i terms on the left and the constant terms
! on the right.
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Check your answer......

LS Rs
= SG-3)-lx-3) | =19

=5 (f-'&"l(?—?-)
= 5(8) -1(6)

c A5-6

= 19

LS = RS



5) 5G-%)=50+%-6
x-6=-3x-15-%
du+3x =-[5-6+6

Zx =-15
5 5
x=-3

Try on Your Own
6) $Bx-13)=23x-13
ASx-(5 = a3%x-13
ASx-A3% = -3 +65
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X = o6



Part 3: Application

7 )The perimeter of the given rectangle is 50cm. Determine
the length of each side of the rectangle.

w1 P=a(d) +a(w)

4x+5 50= 3(2%- ’)+D~(‘{aﬁ+5)
SO0=6% -3 +¥%x+(0
50+3.-lo= Gx+3X

Ya = i
T
X=3

legt=d = 32| = 3(3)-( =Zem
Widdh = w = Y245 = 4(3)+5 = [Tem



